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1 Specifiaction

Stage 1000 Plan

= Event based Use-Case?! print statement@t User7t 2% AZAL| 0 QUCt

= Define System BoundaryQ| User= Customer2t Admin2 £ LH+0{ ™ 9| |0
QL2 L} Use-Case DiagramOfl User=2 |0 d2Q| £|0] RUCL MEH TN ER



1 Specifiaction

Stage 1000 Plan

7. Describe Use-Case

Use Case 1. Withdraw
Actors User

Descriptions A2 AIME Bol0] AR E2 Bel

QIEE ote{E T HEHC BUHEE Y0 T

QIEE SUEC Y0 O HAY oF S0 O B2 39
2 UEE A% Aot HaEO

QIEE FUY FR $+RE FUEL

-E20 EUE Y B2 YHOo[EHL.

Hefot EUD S30 U BHME SO

= ActorOf Ci3F 20| CustomerZ}t AdminO| OfHl User2 ™O|Zl MEX HA ZQ

« 20| M HO|BF Use-Case Number & NameO| L X|SHX| U= A2 THA|



1 Specifiaction

Stage 1000 Plan

= Withdraw, Deposit, Send2| ‘2|7 ELIH HAA

= ==
£ =
printstatementOf|A] EEdl= REE28 22 O0|F 0| &9

r2

» Find info AFEXA}7t AZF IDE YEoCi= €82 2™ Event-Based”} OfL|2f
Actor-Based2 £ ¢



1 Specifiaction

Stage 2030 Plan

2031. Define Essential Use case

= SendQ| Typical Courses of EventsQ| '7. (S)= Y&t =3 U0| St E LY
Off A=X| =HQIotCt = Of gt O{AM5HY| =20 =3 28

» Use-Case Number & Name?l| =AM} LX|5l= HA|Z7t EQ

= Actor-Based Use-Casel| Typical Courses of EventsO|| 2= Event-Based
Use-CaseO| 2 ddt= £ &2 O|F Aot CHA|



1 Specifiaction

Stage 2030 Plan

2035. Define System Sequence Diagram

Use Case Name of Actor-Activated Event
Send Get Account{accoun t_id)
Input Password(password)

Get Receiver Account (account_id)

| o st = Name of Actor-Activated Event= &t=0f CHst
o s X*°|7f OfL| 7| [[H--Oﬂ Of 7l H=0f| CHE "2l 7t
=04 27 g3

Withdraw Get Account{accoun t_id)

Input Password(password)

Input Amount{amoun t)
Check Remain Amount Get Account{accoun t_id)
Input Password(password)

Print Remain Amount()




1 Specifiaction

Stage 2030 Plan

2036. Define Operation Contracts

= Operation Name2 &KX A% &=9| 0|51} ZAH 2+

= Cross referencesOf| CHSt 7|=0| '2031. Define Essential Use-
Cases'2} YX|SHX| b5



1 Specifiaction

Stage 2030 Plan

2037. Define State Diagram

= Send, WithdrawOf| A '2031. Define Essential Use Case’2| Typical Courses
of Events®| 7|=1t CtEH AmountLt PaybackCH 20| St=X| =& QI5t= B&
Of 7|=k[0] /K| H=

= DepositO| A '2031. Define Essential Use Case’2| Typical Courses of Events
o 7|1t CtEA AmountE Checkdte £&20| 7| 2E[0{/UAS

o

S FYE S WAl i

- O

= Check RemainOf| A= Password& & X Y&
7|20 /}UX| =



1 Specifiaction

Stage 2040 Plan

2041. Define Real Use case

= Actor?} UserZ} OFHl Customer, AdminC 2 MEXQ HA Ze



1 Specifiaction

Stage 2040 Plan

2044. Define Interaction Diagrams

= XM Z Event, OperationOf| CHSF 2 A M@l A1} Return Values B M

O SF0 &do| E
= Actor/} UserZt Ofl Customer, AdminC 2 MEXQI A 2

« MM Ot § st M7 22, ReturnO| E|7| HOj| BLEAHLE A EH MO
A= ROA A[ESt= EventZt X

= ActorO| Al E0X|= 2822 ReturnO| ActorZ7}X| Et=HE|O{OF SHC}

= AmountLt Commission= CheckSt= &0 L3t Success®t Faildf| CHoE S
£ LA 7Sl F OF StCt



21 Brute Force Testing




2 System Test

Brute Force TestSet

Testset A M

10 Ho% S5 BRIL W M= EHe Fe
20 Ho% & LA HEe Fo
30 Ho% % BRIL 2 HE €de Fo
40 Printstatement®| PHo= Fo|o] ~EF. Fo
59 =39 Ame s AXE S5 28~ Fe
6o Z=/E=/88 290 -4 L Fo
7o 1000000|¢¢| 222 LD DRIHE TAY HaEtzgF Fo
=ole
80 DEMtE TIEE S+ULE €T = Z=2JF =3¢ Fo
as F=F S/ LEOHA 50 Fe
109 O[& Al DB 2= AZH=EI LHe Fo
11 Hol% % E+8 £HL = O UG Eae pe
120 Le-mReSA ST r33zneHe Fo
13¢ gEao] E2E 850 522 AFsr=0(0|0] Failgl Fo
oE), O o F=F, Hols e
14 =R Y g7 e Fe




2 System Test

Brute Force

= APl g5 A, AT fF 22X U™ Al ST & [N] A2
= Payback /= F7HX| £l CtE Xt €E A Al 217 7t .
« 32| o|M|, g, E=2 A1 Yt I Ao| CHE A7 B

¥ O A X b
Haz= o NMAL|I? YN

==
( ) T ELHALIC
HOM Z22 Ma2 NeEa. A EELC

ZFHO|

=

LS




2 System Test

Brute Force Test

DBO| 1= A ZI2IE 10000<x<30000A0|2] A=} HS

- H " 7 o
Pay back Atm

12345
HIZHE BHs R




2 System Test

Brute Force Test _

Ap21 RHalste] OIXI7t 7hs

Pay back Atm

S & HZIE g8t 8




2 System Test

Brute Force Test

Y=, =5, oMM g2 290| ¥F 7ts

Pay back Atm - x

00000

CtE



2 System Test

Brute Force

o=t 02 AlZte] EX2L, S+ 2YS YUH Al et X3} 0|27} HESIX| &S

Pay back Atm o
TALE x
FHE 2 ZHOIEY IO} @ T = 0k OFEILICE




2 System Test

Brute Force Test

B39 7572 Payback /2 YA HAE €S ol2le] ¥F 7ts

Pay back Atm — *
asdf HALE| b4
HALAZS ESMAELIDEZYIN
1 @ Hel 2k ESESLICH
HOW S5S My MEUGHN 8.
i




2 System Test

Brute Force Test

- G302k 77 E|0Rl= °—'.* o x|, clo&{2] Het7} 8iE
= Payback Gift.CodeZ ®H7|(*HE ER) - x

WA w

@ Changed_Amount=54578Exchanged_Amount=350

Gift_code21




2 System Test

i
7))
)
—
)
O
-
O
Ll
)
d
-
-
(aa

® your remain money : 54928
1O

as HAX
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SLIM? YiN
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HOY ZERE TS MEGIN R,

Cts



2 System Test

Brute Force Test

o|ele] ZHIS

EXN JDK(JRE)°|"T01| M =35 otgt

= 3 Al H{2HS =0l * F Ct HMAO| HA| = HEHS =1

. Payback Z40| Helf =15 2t HA| oA =0 Hel =l =22l =7}
= XIOH Ol 2 g = XkoHof X}O|7} QF Az

. 0I7<1I AI ﬁlif“iza 2Ed UG 0|*1I7f s

| H3}7t O|ROX|X| &



2 System Test

Brute Force Test

Cases

Pass Case 1

Fail Case 13

Total Case 14
Pass Percentage 1%
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2 System Test

Category Partition

Test Case 1

Test Case 2

Test Case 3

Test Case 4

Test Case 5

Test Case 6

Test Case 7

2302 Azt @l olLiof AL, DBO| Bl= &

20 Azt: QH/H S22 4
230 Azt S
2391 A=t : 7|E} String

Sag Az 8l olLiol AL, DBO| Bl &

F

-



2 System Test

Category Partition

Test Case 8 S=< A Xt 7|E} String F(2H2813)
Test Case 9 S8 3% S F
Test Case 10 ST 2% QH/QH SR 4 F(HE83)
Test Case 11 S3 N . 7|E} String F(2IE813)
Test Case 12 2= =29 S F
Test Case 13 2a 3% H/A0H EE2F & P
Test Case 14 A= U . 7|E} String P



2 System Test

Category Partition

Test Case 15 Password : #| O[LHOf| 411, DBO| St= 2k F
Test Case 16 Password : 7|E} String F(EFS 213)
Test Case 17 Printinput : S{&E[X| 22 CHEXRL, &AL F
Test Case 18 Printinput : true/false F(EFS 213)
Test Case 19 Printinput : 7|E} String F(EHE 8i3)
Mode : Withdraw
Check : CheckPassWord
22 AZ : <n/a>
sag Ax : <n/a>
Test Case 20 S= a3 : <n/a> F
23 8% : <n/a>
Password : ®%| O|LHO| U1, DBO| U&= &k
Printinput : <n/a>



2 System Test

Category Partition

Mode : Withdraw
Check . CheckPassWord
22 AZ : <n/a>
Test Case 21 &2 A ;- <n/a> F (8S8l3)
(Key = 1.1.0.0.003.0) &5 =% : <n/a>
A3 3H . <n/a>
Password : LHEEZL/ACLEZL ot
Printinput : <n/a>
Mode : Withdraw
Check : CheckPassWord
201 A#t . <n/a>
S AZF : <n/a>
Test Case 22 =239 : <n/a> P
(Key = 1.1.0.0.0.04.0) YUYz =X : <n/a>
Password : 2%t
Printinput : <n/a>



2 System Test

Category Partition

Mode : Withdraw
Check . LimitedAmount
22 AZ : <n/a>
Test Case 23 S AZt : <n/a> F
(Key = 1.2.0.0.00.00) &= = : <n/a>
2= a4  : <n/a>
Password : <n/a>
Printinput : <n/a>
Mode . Withdraw
Check : FindInfo
2301 Azt . He| ofLiof] AL, DBO| A= 2k
S AZF : <n/a>
Test Case 24 = 34 . =8| ool gt F
(Key = 1.3.1.0.1.0.0.0) ¢z = : <n/a>
Password . <n/a>
Printinput : <n/a>



2 System Test

Category Partition

Mode : Withdraw
Check : PrintStatement
22 AZ : <n/a>
Test Case 25 =2 AZ : <n/a> F
(Key = 1.4.0.0.00.0.1) S5 = : <n/a>
2q= =9 <n/a>
Password : <n/a>
Printinput  : &% CHEXE, &FEX}
Mode : Deposit
Check : FindInfo
2301 Azt . He| ofLiof] AL, DBO| A= 2k
S AlE . <n/a>
Test Case 26 = 34 . =8| ool gt F
(Key = 2.3.1.0.1.1.00) ¢z =N . S etel ot
Password . <n/a>
Printinput : <n/a>



2 System Test

Category Partition

Mode : Deposit
Check . PrintStatement
22 AZ : <n/a>
Test Case 27 S AZt : <n/a> F
(Key = 2.4.0.0.0.1.0.1) S5 = : <n/a>
AZ W . UFHY etol gk
Password : <n/a>
Printinput  : & &% CiEX}, A2X}
Mode . Send
Check : CheckPassWord
29 AZ ;. <n/a>
S22 Azt . Y o[Liof AL, DBO| U= 2k F
Test Case 28 =239 : <n/a>
(Key = 3.1.0.1.00.1.0) ¢z = : <n/a>
Password : "% O[LHO| U1, DBO| A= 2k
Printinput : <n/a>



2 System Test

Category Partition

Mode . Send
Check : CheckPassWord
2392 Azf . <n/a>
Test Case 29 S AZF . Hel O|LHo A1, DBOf| U= &k F (BF35HX| %3)
(Key = 3.1.0.1.003.0) S = : <n/a>
A3 3H . <n/a>
Password : LHEEZL/ACLEZL ot
Printinput : <n/a>
Mode . Send
Check : CheckPassWord
29 AZ ;. <n/a>
S AZF . He| O|LHo AL, DBOf| U= &k
Test Case 30 =2 89 : <n/a> P
(Key = 3.1.0.1.004.0) 3 = : <n/a>
Password : 2%t
Printinput : <n/a>



2 System Test

Category Partition

Mode . Send
Check . LimitedAmount
EJ01 A#t . <n/a>
Test Case 31 S AZF . Hel O|LHo A1, DBOf| U= &k F
(Key = 3.2.0.1.0.000) &= =% . <n/a>
2q= =9 <n/a>
Password : <n/a>
Printinput : <n/a>
Mode . Send
Check . FindInfo
2301 Azf . He| O|Lfof AL, DBOf| U= 2k
S Azt o R o[Liof AL, DBO| U= 2k
Test Case 32 = 34 . =8| ool gt F
(Key = 3.3.1.1.1.0.00) %= = : <n/a>
Password . <n/a>
Printinput : <n/a>



2 System Test

Category Partition

Mode . Send
Check . PrintStatement
22 AZ : <n/a>
Test Case 33 S AZF . Hel O|LHo A1, DBOf| U= &k F
(Key = 3.4.0.1.000.1) S5 = : <n/a>
2= a9  : <n/a>
Password : <n/a>
Printinput  : & &% CiEX}, A2X}
Mode . CheckRemain
Check : CheckPassWord
29 AZ ;. <n/a>
Test Case 34 S Azt : <n/a> Tl =toloy|
(Key = 41.00.001.0) S5 =% : <n/a> Password & 0|
AZ = . <n/a> o a
Password : "% O[LHO| U1, DBO| A= 2k
Printinput  : <n/a>



2 System Test

Category Partition

Mode : CheckRemain
Check . CheckPassWord
2392 AZt : <n/a> Thol =tolof
Test Case 35 s=2% A=t : <n/a> Password /20|
(Key = 41.0.0.003.0) S5 = . <n/a> o4&
2q= =9 <n/a>
Password : HEEL/AHEEZL 4t
Printinput : <n/a>
Mode : CheckRemain
Check : CheckPassWord
29 AZ ;. <n/a>
Test Case 36 S AZF : <n/a> Tl 2koloj|
(Key = 41.0.0.004.0) S5 = . <n/a> Password €/ =10|
2q= =9 <n/a> o]
Password : 2%t
Printinput : <n/a>



2 System Test

Category Partition

Mode . CheckRemain
Check : LimitedAmount
2392 AZt : <n/a> Thol stolof|
Test Case 37 S AlE . <n/a> Password 20|
(Key = 42.0.0.00.00) S5 = . <n/a> ool
2q= =9 <n/a>
Password : <n/a>
Printinput : <n/a>
Mode : CheckRemain
Check : PrintStatement
Test Case 39 201 A#t . <n/a>
(Key = 44.0.0.0.00.1) &= Azt : <n/a> F
Sz =% : <n/a>
A= aH . <n/a>
Password . <n/a>
Printinput  : &% CHEXE, AFEX}



2 System Test

Category Partition

Cases

Pass Case 6

Fail Case 32

Total Case 38
Pass Percentage 15.8%
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2 System Test

Pairwise Test

PictMaster v5.7.3 December 10, 2013
Item number Item name Date . . q
Sub-item number Sub-item name Creatar S | Edit Settings

Parameters |

| value hierarchy I

IWATSU System & Software Co,, Ltd.  Licensed under the Open Software License version 2.1
= B2 0|LH DBESH, S| 0|LH DBO| =84, OF/UF, &3, etc.
ST E B2 0|LH DBESH, S| 0|LH DBO| =84, OF/UF, &3, etc.
Ea/EIY 2IEHL 0|, S54f OF/UF, etc.
o= LR 0|, S4f OF/UF, etc.
HIZHE B2 0|LH DBESH, S| 0|LH DBO| =84, OF/UF, &3, etc.
2rEaM HEM/=F 2 01§ == H/ A4-F & trueffalse, etc




System Test

Pairwise

oo s Mmoo -

[ T R VTR VTR TR (R (TR TR C T U R (S VTN O R TR S S S RS S Y
T VRN R R = B T B < L I = = T = B« IR VIR S VR NI =

2 LA = === H =

etc. He|o|Ll DBREF
HO|0|L DBEFY OF/UF

OF/UF S

HO|0|L DBO|E=R  OF/UF

=H2|o|L DRO|Z=RY
s

etc.

=HelolLl pDeOI=AY
OF/UF

oA
=l

S

H2|o|Ll DBERY
=He|o|L] DBO|=FY
OF/UF

=He|o|Li DBO|=FY
S

etc.

etc.

H2|o|Ll DBERY
S

OF/UF

H2|0|L| DBEF
OF/UF

=H2|o|L DBEA
etc.

H2|0|L DBEFY
etc.

=H2|o|Li DeO|ZEFY
etc.

=H2|o|Li DeO|Z=AY
=

OF/UF

H2|0|L DBEFY

ZH2|o|L DeRO|IZE=RY
HOl0|L DBO|ERY

o A
= T

o A
= T

H2fo|L DBERY
H2fo|L DBERY
etc.

etc.

H2fo|L DBERY
OF/UF

=He|o|Li DBO|=AY
=

etc.

=He|o|L] DBO|=AY
=

OF/UF

etc.

HLAO|LH DBO|=RY
OF/UF

=H2|o|L DBEA
OF/UF

OF/UF

H2|0|L DBEFY
etc.

#H2|o|L DeO|E=RY
=

He|o|Li peO|=FY
#He|o|L peO|=FY
etc.

s=/2==Y
el=HL| oLy
OF/UF

etc.

S=at

etc.

S=at

OF/UF
el=HL|o|LH
OF/UF

o= s T
= T

Saak

etc.

etc.
elEg=|olW
OF/UF
=20l
=20l
S=ak
S=ak
OF/UF

OF/UF
SIZHL|0|LY
etc.
2IE=H2|0|LH
etc.

OF/UF
S=at
OF/UF

etc.

S=at

etc.

S=at

S+

]

=2
2= HLolLH
OF/UF

etc.

E=T

= T
eZHLlolL
OF/UF
S=at

etc.

OF/UF

etc.
d=E=olH
Sa=at
OF/UF
OF/UF
d=E=lolH
E=lr

= T

etc.

etc.
d=E=olH
etc.

Sa=at

o= T
= T

L=H2IOILH
S5t
S5
OF/UF
L=E2IoILh
OF/UF
OF/UF
OF/UF
LS EI0IL

etc.

Or

etc.

=HelolLl DBEA
H2|0|L DBO|Z=RY
etc.

H2|o|Ll DBERY
=He|o|L] DBO|=AY
H2|o|Ll DBERY
OF/UF

H2|o|Ll DBERY
H2|o|Ll DBERY
OF/UF

etc.

OF/UF

etc.

etc.

S

H2|0|L DBO|Z=RY
= 2(0|Ll DBOIEAY
=

=

QOF/UF

=20t DeO|Z=FY
OF/UF

etc.

=

H2|o|L] DBOIEAY
OF/UF

etc.

OHE =42 X}
HE2ECH/ 42X
true/false

o g=Iti/ 42 X
true/false
true/false

etc.
st/ a 2t
oS g ol /a2 At
SISt/ A2t
etc.

true/false

etc.

S slt/a 2t
etc.

oS g oA At
Heslt/L2xt
etc.

true/false
true/false
true/false

O =t/ a2 At
HEZE /22X
O g =t/ a2 At
HE2EIH/ 22X
true/false

etc.

etc.

oS =ty =2 AL
oI SEItiy/a=2 At
oS 8=ty a2 Xt
true/false

= 337H9] testcase A



2 System Test

[F= B~ B R RV B O R R VR

L I o B T S o T e e O e T e R e e e e
[ =T =R - R I - R S R S VI PR S =T = I LR R =]

33
]

2 1A =

etc.

HOO|L} DBETY
OF/UF

Helo|Lf DeO|=RY
Helo|Lf DeO|=RY
S

etc.

=Holo|Ll DeO|Z=RY
OF/UF

[=
= T

=5

HL|0|LH DEEFY
Helo|l oeOl=R
OF/UF

Helo|l oeOl=x
=5

etc.

etc.

HL|0|LH DEEFY
=5

OF/UF

HoO|LH DBEERY
OF/UF

=Holo|Ll DBEEAY
etc.

He|O|L} DBE=TY
etc.

HelolLl DeO|=FY
etc.

Helo|Ll DeO|=FY
S

OF/UF

He|O|L} DBE=TY

EITAHE
He|O|Lf DBETY
OF/UF

o
=T

OF/UF
Helo|Lf DRO|ERY
Helo|Lf DRO|ERY

o
(=l

o
(=l

H20|LH DEER
H20|LH DEER
etc.

etc.

H20|LH DEER
OF/UF

He|o|Li DeOIEAY
=

etc.

He|o|Li DeOIEAY
=

OF/UF

etc.

H2|O|Lf DRO|=RY
OF/UF

Ho0|LH DBE=AY
OF/UF

OF/UF

H2|O|Lf DBE
etc.

Holo|Lf DeO|ERY
=

Helo|L) DeO|EF]
Helo|L) DeO|EF]
etc.

wise Tes

s3/elE2
elEH2 ol
OF/UF

etc.

etc.

e
OF/UF
elEHL|oILH
OF/UF

= ATk
=T

s+t

etc.

etc.

elE 2ol
OF/UF

elz 2ol
elE 2ol
s+t
s+t
OF/UF

OF/UF

elEH 20l
etc.

elEE 20l
etc.

OF/UF
s+t

OF/UF

%]

| LCH
[==T = R |
2UZH2{0ILY
OF/UF

etc.

g+t

2 2lolLy
OF/UF

= AT
=T

etc.

OF/UF

etc.

U= olLY
=
OF/UF
OF/UF
U= olLY
S+

etc.

etc.

U= 0[LY
etc.

S+
S+
2= ol
=
=
OF/UF
e
OF/UF
OF/UF
OF/UF
e

etc.

o

etc.

OF/UF

[=
= T

Heloll DBERY
Helol oeOl=x
etc.

HL|0|LH DBEEFY
Helo|l oeOl=X
HL|0|LH DBEEFY
OF/UF

HL|0|LH DBEEFY
HL|O|LH DBEEFY
OF/UF

etc.

OF/UF

etc.

etc.

=5

#2/0|Lf DBOIET
=Holo|Ll DBO|Z=RY
=T

=T

OF/UF

=Holo|Lf DeO|=RY
OF/UF

etc.

==

HelolLl DBO|ERY
OF/UF

etc.

0|5 EEI /22X
S ZEI/22 X}
true/false

O =/ -2 A
true/false
true/false

etc.

EEEE P
ojsigEth/A 2Rt
GELE SV
etc.

true/false

etc.
CELPEb
etc.

0|5} 8 £l T/~ 2 A
GEEE SV
etc.

true/false
true/false
true/false

O &l =2 At
S EEI/a-2 X
O g =t/ =2 At
SHEEL/a-EX
true/false

etc.

etc.

0|5 g Elth/ =2 At
05| et/ =2 At
05| et/ =2 At
true/false

Result

B e T e e e e e T e e s e e T e e T e e e o e e M e R m i 0 |

Report

20204 o222 etE

SSAZE DA o 2H 2| eHE

EO20A o2z etE

202Al Deg=gt YHSI A S M o 22| et
202Al Deg=gt YHSI A S M o 22| et
29214 H2lHE| etE

EO0A t2iME| =L, S A LAHA o 2lXE|
2094l Degl=gt YHstE2m o2l etE
EIO00A o=lXe] erE

EIO00A o=lXe] erE

EIO00A o=lXe] erE

S=AE Al ol 2K 2| erE

E2I91A DB = UHSI ST o =2(X 2| erd
EIO00A o=lXe] erE

E2I91A DB = YHS ST o 2(X 2| erd
EIO20A t2iHE] =L, SSAIE LHA| tl=lH2)
EIO0IA telXe] erE

EIO0IA telXe] erE

SSAE Al ol 2K 2| erE

EIO20A t2iHE] =L, SSAIE LHA| tl=lH2)
EIO0IA telXe] erE
SSAZE A=A HI=IX™E| e
22A o2 e] erE
LU==Y H=2Hel eHE
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2 System Test

Pairwise Test

Cases

Pass Case 0

Fail Case 33

Total Case 33
Pass Percentage 0%



2 A Overall




2 System Test

1st System Test Result

L

Brute Force Test 1/14 = 7% Pass
Category-partition 6/38 = 15.8% Pass
Test
Pairwise Test 0/33 = 0% Pass
All /7/85 = 8% Pass
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your attention



